Differential Equations and Slope Fields

AP Calculus BC — Worksheet 97
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Match the differential equations with the appropriate slope field. For each graph sketch the particular solution
that passes through the point(0,1).

dx B . (A)

Match the differential equations with the appropriate slope field. For each graph sketch the particular solution
that passes through the point(—1,-1).
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12. At the right is a slope field from a certain differential equation.

Which of the following could be a specific solution to that
differential equation?

v -

(A) y=x?

(D) y=cosx

B) y=e"

[® y=lnx |

(C) y=e™*
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13. At the right is a slope field from a certain differential eq'u.atién.v

—

Which of the following could be a specific solution to that

differential equation?

(A) y=sinx

(D) y=%x3}

(B) y=cosx

(E) y=Inx

© y=x*
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14. At the right is a slope field from a certain differential equation.

Which of the following could be a specific solution to that

differential equation?
(A) y=sinx

(D) y=tanx

(B) y=cosx

E) y=e*

(C) y=-x* )

15. At the right is a slope field from a certain differential equation.

Which of the following could be a specific solution to that

differential equation?

(B) y=e‘l

(E) y=Inx

(C) y=e™*
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